fACUPRESSURE SHODH PRASHIKSHAN EVAM UPCHAR SANSTHAN
49/24-A, MINTO ROAD, PRAYAGRAJ.

SESSION JULY- DECMBER 2022
ASPEUS CORRESPONDENCE COURSE - SEM — 4 (ADAHS-II)

BASICS OF HUMAN BODY (BHB-4)

TIME - 1.30 HRS MAX MARKS-100

(ONLINE EXAM)
(Objective Questions)

(axgfs %)

Attempt each questions: 50x2=100
IS Yl & S} Q-

(1) Oogenesis takes place in presence of hormone -

(a) LH (b) GH
(c) FSH (d) None
s o+ fow smls @) SuRefa # gtar @ —
(a) LH (b) GH
(c) FSH (d) dig 181
(2) Vitamin A and D is stored in -
(a) Pancreas (b) Liver
(c) Gall Bladder (d) None
faerfim ¢ Jiik & @el vea gd 2—
(a) 3= (b) I®md
(c) frcarer™ (d) B3 -2l
(3) Which test done to identify the malaria parasite -
(a) Widal test (b) General blood picture
(c) Blood culture (d) None
A RAT woidt &) g @ fav &9 a1 wdeor fear smar @ -
(a) fasTel S (b) M sdfs e
(c) T8 PHoax (d) &g TS
(4) Parasympathetic nervous system is related with -
(a) Cranial part (b) Sacral part
(c) Both (d) None
RIS e 93 4 aafaa @ -
(a) sfae wrT (b) el AR

(c) <=t (d) &g 2



(5) The internal activities of the cell are controlled by -

(a) Centrosome (b) Mitochondria
(c) Golgi apparatus (d) None
IRRM®T o1 AalRe wfafafer &1 e oxar 8 -
(a) Centrosome (b) Mitochondria
(c) Golgi apparatus (d) ®dig gl

(6) Blood is produced in -
(a) Bone marrow (b) Blood vessels
(c) Lymph vessels (d) All above
G BT SHIGA H31 ghal & —
(a) IRer FooIT (b) Xad arfa®rg
(c) aifl T arfe 1y (d) SuRiad a+H

(7)  Which of the following is not a function of the lymphatic system -
(a) Transport of Lymphocytes (b) Prevention of infection
(c) Production of antibodies (d) None
fr1 ¥ @ 19 a1 aRier gonell &1 st TE @ —
(a) fopidargca &1 uRag (b) HHHUT W §919

(c) TAETEY &1 IR (d) B3 =12l
(8) Functional unit of Kidney is -
(a) Neuron (b) Nephron
(c) Neutron (d) None
J9% B BFRATHSG FHIg & —
(a) =R (b) AT
(c) YT (d) BI¥ =T
(9) Cerebellum has control over -
(a) Voluntary movement (b) Involuntary movement
(c) Both (d) None
JNdeH 39 R 0T HRar & —
(a) Wizes i (b) sRifeed PR
(c) It (d) BIg 12l
(10) In ECF, C stands for -
(a) Cerebral (b) Cellular
(c) Cranial (d) None
ECF# C & areud 8 —
(a) Cerebral (b) Cellular

(c) Cranial (d) dig &Y



(11)

(12)

(13)

(14)

(15)

(16)

The axial skeleton comprises of -

(a) Arms (b) Girdles

(c) Vertebral column (d) All above
3efa dbrel 399 99 B fadr & —

(a) 918 (b) TS

(c) aféad drem™ (d) SwRiad g+
Vocal cards lie inside the -

(a) Trachea (b) Larynx

(c) Pharynx (d) None

qbd bred feas Hiax Rea gld & —

(a) TarT Afer®dr (b) afR@a

(c) wRaa (d) &g TE
Fibrinogenis is responsible for -

(a) Blood cell (b) Blood plasma
(c) Blood clot (d) None
Fibrinogen f&aa forw Scaverl @ —

(a) Yo 01D (b) Xdd wITSHT
(C) Xad BT AddHI (d) dig &Y
Where is occipital bone situated in cranial cavity -
(a) Upper part (b) Lower part

(c) Frontal part (d) None

®UTd el A Affrafica sl wal Rea 2-
(a) S AFT | (b) Fraet wmT ¥
(c) amt & wrT & (d) PIE T
Hormone testosterone is secreted by -

(a) Epididymis (b) Seminal vesicle
(c) Pituitary (d) None
Hormone testosterone f&da gRT dfad &dar @ —
(a) Epididymis (b) Seminal vesicle
(c) Pituitary (d) BIg TET

pH of blood is slightly -

(a) Acidic (b) Alkaline

(c) Neutral (d) None

ad &1 figg ghar @ —

(a) 3l (b) & ™

(c) Serl= (d) &g 2



(17)

(18)

(19)

(20)

(21)

(22)

Astigmatism is a disease of -

(a) Iris (b) Cornea
(c) Pupil (d) None
gicduyr 374 4 feaa 98 2 —

(a) Iris (b) Cornea
(c) Pupil (d) &g gl
Right hypochondriac pain is related to -

(a) Stomach (b) Spleen
(c) Kidney (d) None
crfef ssniaif~gar & ¢ @ gNfed 2—
EEIINE (b) wiraT
(c) g7® (d) o1 T

Which cranial nerve travels in the whole body —
(a) Facial nerve (b) Vagus nerve
(c) Glossopharyngeal nerve (d) None

B9 A Futad AT R IR H A= wd € -
(a) Facial nerve (b) Vagus nerve
(c) Glossopharyngeal nerve (d) &g &N

The pain recognized by thalamus within 0.1 second of stimulus is -
(a) Slow pain (b) Fast pain

(c) Aching pain (d) None

AGAT @ 0.1 AHvs & HIaR ¥ gRT g o1 darefl fie1 8 —
(a) efwr < (b) g 3

(c) el §€ (d) BIg &Y

Patients of Rheumatic arthritis are —

(a) Children (b) Young adults

(c) Adults (d) None

vifesd dft@a @ A gid © —

(a) 9=d (b) gaT 9uEDH

(c) IUD (d) dig &Y

Which of the following is a filter -

(a) Glomerulus (b) Proximal tubule

(c) Henle Loop (d) None

fr1 4 ¥ $I9 a1 P Filter @ —

(a) Glomerulus (b) Proximal tubule

(c) Henle Loop (d) BIg TET



(23)

(24)

(25)

(26)

(27)

(28)

Deglutition is a function of -

(a) Eye (b) Ear

(c) Tongue (d) None
Deglutition SH®T T &R 8 —

(a) 3T (b) &1

(c) it (d) ®1g T
E-Coli bacteria are present in -

(a) Oral cavity (b) Large Intestine
(c) Small Intestine (d) None
$—Didly dFIRAT HE I Td T —

(a) & (b) 9 anid

(c) BI<Y 3nd (d) &g T8

In CSF, C stands for -

(a) Central (b) Cerebral

(c) Cervical (d) None

CSF & C & areud & —

(a) Central (b) Cerebral

(c) Cervical (d) ®dig gl
Common passage for food and air is -

(a) Oropharynx (b) Nasopharynx
(c) Pharynx (d) None

Ao AR ga1 & forg war= arf @ —

(a) Oropharynx (b) Nasopharynx
(c) Pharynx (d) &g TS
Hypothyroidism is a cause for -

(a) Amenorrhea (b) Dysmenorrhea
(c) Menorrhagia (d) None
Hypothyroidism SH®T ®R® & —

(a) Amenorrhea (b) Dysmenorrhea
(c) Menorrhagia (d) ®dig gl
Pons is a part of -

(a) Brain (b) Brainstem
(c) Spinal cord (d) None

I 3BT TP HIT & —

(a) aRasH (b) aRas ™

(c) AvevS (d) ®Ig T8



(29)

(30)

(31)

(32)

(33)

(34)

CSF investigation is necessary in -

(a) Meningitis (b) Encephalitis
(c) Cerebral abscess (d) All above
‘CSF’ <iia fead smazas 8—

(a) Meningitis (b) Encephalitis
(c) Cerebral abscess (d) SwRiad
Cistern chili is situated in front of -

(a) Thoracic vertebrae (b) Lumbar vertebrae
(c) Sacrum vertebrae (d) None

Cistern chili fea® A+ Red 28—

(a) RS HITHH (b) TR HUTHA
(c) dHH HITHR (d) dig &Y
Systolic blood pressure is -

(a) Maximum (b) Minimum

(c) Normal (d) None
frecifas Yaaam & —

(a) srfereman (b) g4

(c) AT (d) BIg T&T
Lining of hollow organs is made up of -

(a) Connective tissue (b) Epithelial tissue
(c) Muscle tissue (d) None

e M B IR 3979 9T B —

(a) Garoht SHas (b) SUBAT Hdd
(c) wEaeh Had (d) &g T8
Which one of the following is not an appendage of skin -
(a) Nails (b) Hair

(c) Sweat glands (d) None

1 ¥ @9 a1 a1 ST 82—

(a) g (b) dTet

(c) W@g T (d) HIg TS
Night blindness is caused by deficiency of -

(a) Vitamin A (b) Vitamin B

(c) Vitamin C (d) None

arel saa wH 9 gidr 2—

(a)freTf | (b) facTfir &

(c) faerfs < (d) &g 2



(835) The lifespan of RBC is -

(a) 60 days (b) 90 days

(c) 120 days (d) None

AT Yad HIOTHT BT Shaq BTl & —

(a) 60 f&=1 (b) 90 fa&=1

(c) 120 f&= (d) ®ig =g
(36) Patellais a part of -

(a) Shoulder (b) Elbow

(c) Hip (d) None

yedr feast ¢ AT | —

(a) ®er (b) ®igh

(c) TR (d) BI¥ =T
(837) Thymus gland is situated in -

(a) Head (b) throat

(c) chest (d) None

ursd Uy wel Rera gkt @ —

(a) R (b) e

(c) dr (d) @13 =Tl
(38) Micturition is the act of passing -

(a) Sputum (b) Urine

(c) Stool (d) None

Micturition @Y fpar a8 Gwfed 8 —

(a) o> (b) 7=

(c) siet (d) &I &l
(39) How many vertebrae are preset in cervical region —

(@)5 (b) 6

(c)7 (d) None

T & g9 A fhad $A%d 8Id & —

(@)5 (b) 6

(c)7 (d) &1 &l
(40) Respiratory rate of one cycle in adult is -

(a) 15 times per minute (b) 25 times per minute

(c) 35 times per minute (d) None

JUEHT H UH dh DI I@UT X & —

(a) 15 IR gfa fi=e (b) 25 IR ufa fiqe

(c) 35 9R yfa fiFe (d) ®dig gl



(41)

(42)

(43)

(44)

(49)

(46)

Which is the most common human blood group type —

(a)A (b) B

(c) AB (d) None

S AT AT a8 DI AT 8 —

(a) A (b) B

(c) AB (d) &g TS
Vomiting/coughing centre is present in -

(a) Mid brain (b) Spine

(c) Pons (d) None

Sedl /Gl BT g sad Reyd € —

(a) wreg ARTSD (b) ¥Ig 1 TSI
(c) uTH (d) B =Tl
Anorexia is the loss of -

(a) Blood (b) Appetite

(c) Hair (d) None
Anorexia ¥ $H®T 19 BIAT & —

(a) Xad (b) 1=

(c) ara (d) ®1¢ &
What causes non-pitting edema -

(a) Thyroxine deficiency (b) Lymphatic blockage
(c) Both (d) None
Afa—ffeT fear &1« RT @ —

(a) ATRIFET BT HH (b) @fR@T (Lymph) d $®1ac
(c) <t (d) &1 Tl
Menstrual cycle is divided into -

(a) Two phases (b) Three phases
(c) Four phases (d) None

aife et 9% feaa wmr # fawfoa @ —

(a) &t (b) =

(c) I (d) &g T&l
Tympanum membrane is present in -

(a) External ear (b) Middle ear
(c) Internal ear (d) None
Tympanum f3reelt 389 Rera =it @ —

(a) Iredl B (b) Hed B4

(c) aiaR® &1 (d) dig T8N



(47)

(48)

(49)

(50)

Loss of smell is called -

(a) Dysosmia (b) Hyposmia
(c) Anosmia (d) None
91T 9Ifdd & AT &1 HEl Ol & —

(a) Dysosmia (b) Hyposmia
(c) Anosmia (d) &g T8
The function of canine teeth is -

(a) Cutting (b) Tearing
(c) Grinding (d) None
DS afdl o & & —

(a) dreT (b) TSI

(c) dra (d) ®1g =Tl
ADH is secreted by-

(a) Anterior pituitary (b) Posterior pituitary
(c) Pineal (d) None
ADH s9@ gRT 9fad fear wmar 2 —

(a) ¥y NYfyaT (b) gza 4T
(c) difraer Ui (d) &g T8
Which is a multi-axial joint -

(a) Wrist (b) Elbow

(c) Shoulder (d) None
®I9 91 e qgaelyg o & —

(a) ®daTs (b) ®ia=ft

(c) den (d) d1g T



ACUPRESSURE SHODH PRASHIKSHAN EVAM UPCHAR SANSTHAN
49/24-A, MINTO ROAD, PRAYAGRAJ.

SESSION JULY - DECEMBER 2022
ASPEUS CORRESPONDENCE COURSE-SEM - 4(ADAHS-II)

CHINESE ACUPRESSURE (CA-4)
TIME — 1.30 HRS MAX MARKS-100
(ONLINE EXAM)
Objective Questions (a¥ifss 4e)

Attempt each questions: 50x2=100
Jd® 9Hl @ IR Q-

(1) Master point of Yin Linking Vessel is -

(@ Lu-7 (b)K-6

(c)Sp-4 (d) None

Yin Linking Vessel &1 Master fa=g 28—

(@) Lu-7 (b)K-6

(c)Sp-4 (d) ®Ig ~TEl
(2) 4 Petals related chakra is -

(a) Manipur (b) Ajna

(c) Muladhar (d) None

4 HAd < 8 gHEfEd a9 8 —

(a) AT (b) =T

(c) FeTER (d) BIg =Tl
(3) Energy of Ajna chakra is -

(a) Wind (b) Humidity

(c) Heat (d) None

AT Ih B Holl 2—

(a) O OEEC

(c) arfis (d) &g &
(4) Liver related chakra is -

(a) Swadhisthan (b) Anahat

(c) Muladhar (d) None

JHd @ gHEfud I & —

(a) wrferssTT (b) 3rTEd

(C) HeEmrR (d) PIg =T



(5)

(6)

(7)

(8)

(9)

Uterus Fibroid will be treated by -

(a) Ren Mo
(c) Dai MO

T S BT SUFR T —

(a) Ren Mo
(c) Dai MO

Symbol ‘B’ related chakra is -

(@) Yin Manipur
(c) Yang Swadhisthan

‘B gl |4 wHfud 99 2—

(a) R =forgR
(c) AT ¥qTferss=

Stomach will be treated by -

(a) Chong Mo
(c) Du Mo

(b) Chong Mo
(d) None

(b) Chong Mo
(d) o8 e

(b) Yang Anahat
(d) None

(b) AT 3rTEA

(d) &g €

(b) Ren Mo
(d) None

M T SUAR =1 a) 89m —

(a) Chong Mo
(c) Du Mo

Wind is energy of -
(a) Muladhar chakra
(c) Vishuddha chakra
Wind it 8—

(a) YITEIR dsh Bl

(c) fags @ @1

Sp — 4 is Master point of -
(a) Wei Mo

(c) Du Mo

Sp — 4 Master point 8 —
(a) Wei Mo &1

(c) Du Mo @1

(b) Ren Mo
(d) BIg =TEl

(b) Ajna chakra
(d) None

(b) TSI TH DI
(d) g e

(b) Chong Mo
(d) None

(b) Chong Mo &1
(d) BIg =Tl



(10)

(11)

(12)

(13)

(14)

(19)

Energy of Manipur chakra is -

(a) Humidity (b) Wind

(c) Heat (d) None
ARYR % Y Holl 23—

(a) armefa (b) g

(c) wsAT (d) BIg =TEl
Front upper left part of Body related point is -
(@ Lu-7 (b) Tw-5
(c)K-6 (d) None
IR D AFA FR & 90T § wEfaa g @ -
(@ Lu-7 (b) Tw-5
(c)K-6 (d) BIg =Tl
Blood deficiency will be treated by -

(a) Yin Regulating (b) Yang Heel
(c) Du Mo (d) None

Yad @ B BT ITAR BHM—

(a) Yin Regulating (b) Yang Heel
(c) Du Mo (d) ®dig =&l
Anger emotion related element is -

(a) Earth (b) Water

(c) Wood (d) None

BT AIHTET 4 GHEfET 79 8§ —

(a) gedt (b) sret

(C) ®TS (d) &g =&l
Sedation colour of Anahat chakra is -

(a) Brown (b) Black

(c) Red (d) None
IATEd I B Holl TcH ardr 3T 8 —

(a) *xT (b) eTett

(c) wret (d) BIg =Tl
Urine problem will be treated by -

(a) Muladhar chakra (b) Ajna chakra
(c) Both (d) None
9319 I R 1 SuAR R -
(a) HITeR dash (b) 3=l =%k

(c) =it (d) BIg e



(16) Symbol of Yang Swadhisthan chakra is -

(a) *C (b) "G

(c)*B (d) None

AT WIS ah &1 Uoih & —

(a) *C (b) *G

(c)*B (d) g e
(17) ‘Smell’ sense related chakra is -

(a) Swadhisthan (b) Manipur

(c) Muladhar (d) None

Mg A A GHElEd TP 8-

(a) w@rferss™ (b) \fdTgR

(c) FeER (d) PYE e
(18) How many Petals are in Manipur chakra -

(a) 96 (b) 16

(c) 4 (d) None

AR 9% # fHa) &9d o & —

(a) 96 (b) 16

(c)4 (d) g e
(19) Contravaction will be treated by -

(a) Yin Heel (b) Yang Heel

(c) Chong Mo (d) None

A e & &1 SUAR BT —

(a) Yin Heel (b) Yang Heel

(c) Chong Mo (d) &g =gl
(20) Stomach related chakra is -

(a) Swadhisthan (b) Muladhar

(c) Anahat (d) None

AT | T 9% @ —

(a) w@rferssT= (b) e

(c) 3rTEd (d) BIg ==l
(21) ‘Gate of Life’ point is -

(@) Cv-4 (b) Gv - 4

(c)Gv-5 (d) None

STGITd GYaATcAd Soll &l fag 2—

(@a)Cv-4 (b)Gv-4

(c)Gv-5 (d) dig =11



(22)

(23)

(24)

(25)

(26)

(27)

Polycystic ovaries will be treated by -

(a) Ajna (b) Muladhar
(c) Anahat (d) None
Polycystic ovaries &I SU9AR =1 uv &I—
(a) 3= (b) HaTER
OEELES (d) ®dig =&l
Hotness is the energy of -

(a) Anahat (b) Vishuddha
(c) Ajna (d) None
Hotness it 8 —

(a) 3-ITEd I (b) fagggT a1
(C) 3ITsIT &Y (d) &g LI

Hernia will be treated by -

(a) Chong Mo vessel (b) Du Mo vessel
(c) Ren Mo vessel (d) None

gfffar &1 SR s o) g —

(a) Chong Mo vessel (b) Du Mo vessel

(c) Ren Mo vessel (d) Big Ll

*A means -

(@) Yin Manipur (b) Yin Muladhar
(c) Yin Ajna (d) None

AR arerd @ —

(a) Rr= AfdrgR (b) R e
(c) i s (d) B =&l
Kidney is related to -

(a) Vishuddha Chakra (b) Ajna chakra
(c) Manipur chakra (d) None

gad wEfad & —

(a)flags 9% 4@ (b) 31T ash 4
(c) PR = 4 (d) BIg =Tl
Infertility will be treated by -

(a) Ren Mo (b) Du Mo

(c) Yin Heel (d) None
9399 &1 SUaR /71 W 8 —

(a) Ren Mo (b) Du Mo

(c) Yin Heel (d) &g =&l



(28)

(29)

(30)

(31)

(32)

(33)

Master point of Yin Regulating vessel is -

(a)P-6 (b)K-6
(c)Lu-7 (d) None
Yin Regulating vessel &T #ex fag @ —
(a) P-6 (b)K-6

(c) Lu-7 (d) &g TE
‘Navel’ is located on -

(@)Cv-6 (b)Cv-8
(c)Cv—-12 (d) None
iy Rera 2-

(@) Cv—-6ux (b) Cv-8 4}
(c)Cv—-12W (d) &g TE
Which colour will be applied on Ajna Chakra in Heat stroke -
(a) Red (b) Green
(c) Blue (d) None
‘O H IATAT IH H B A1 T AEA —
(a) drat (b) &1

(c) et (d) &g TE
Master point of Girdle vessel is -

(@) Si—-3 (b) GB - 41
(c)UB-62 (d) None
Girdle d9d &T ARCR fag @ —

(@) Si—3 (b) GB - 41
(c)UB-62 (d) BIg =&l
Master point of GB — 41 is—

(a) Du Mo (b) Dai Mo
(c) Ren Mo (d) None.
GB - 41 &1 urex fag @ —

(a) Du Mo (b) Dai Mo
(c) Ren Mo (d) ®dig =&l
Eagle toes will be treated by -

(a) Chong Mo (b) Du Mo
(c) Yang Regulating (d) None
Eagle toes &1 SUAR 71 = &M —

(a) Chong Mo (b) Du Mo
(c) Yang Regulating (d) &g TE



(34)

(39)

(36)

(37)

(38)

(39)

Tonification colour of Muladhar chakra is -

(a) Black (b) Green
(c) Orange (d) None
AR g% & SHoll dg= ardr 37 8 —
(a) ®ret (b) &1

(c) T (d) ®1$ T&l
Rheumatic Arthritis will be treated by -

(a) Ren Mo (b) Dai Mo
(c) Chong Mo (d) None
Rheumatic srefRrgfed &1 Syar =1 ax gl —
(a) Ren Mo (b) Dai Mo
(c) Chong Mo (d) ®dig =&l
*D is symbol of -

(@) Yin Manipur (b) Yin Ajna
(c) Yin Vishuddha (d) None
D yefi® & —

(a) R wfogR &1 (b) R 3= &1
(c) Rt fargrer @1 (d) BTE =T
Chakra related to 96 Petals is -

(a) Ajna (b) Manipur
(c) Anahat (d) None
96 T & § WHEfHd awh a—

(a) =it (b) wfergR
(c) 3rTEd (d) ®1$ T&l
Colour related to Anahat chakra is -

(a) Green (b) Yellow
(c) Red (d) None
IFTEd 9% A gHEfEa I 2—

(a) &1 ORI

(c) eiret (d) BIg =Tl
Symbol of Yang Swadhisthan chakra is -
(a) "B (b) *C

(c) *G (d) None
AT QIS ash &I Ydid & —

(a) *B (b) *C

(c) "G (d) ®1g e



(40)

(41)

(42)

(43)

(44)

(49)

Master point of UB — 62 is -

(a) Ren Mo (b) Dai Mo
(c) Du Mo (d) None
UB — 62 &T AreX famg 2 —

(a) Ren Mo (b) Dai Mo
(c) Du Mo (d) ®Big &l
High Blood Pressure will be treated by -

(a) *G (b) *B

(c)*J (d) None
Sod Yaddd &1 SUFR 91 wR g8 —

(a) *G (b) "B

(c)*J (d) BIg =Tl
Heat energy related chakra is —

(a) Anahat (b) Ajna

(c) Manipur (d) None.
Heat Soif & gxfed a5 8 —

(a) r=red (b) aAT=IT

(c) TR (d) BIg =Tl
Angina pain will be treated by -

(a)P-6 (b) Si-3
(c) UB -62 (d) None
< YA $T SUAR BT —

(a)P -6 (b) Si-3
(c)uUB -62 (d) ®dig =&l
Gyanecological problem will be treated by -
(a) Conception vessel (b) Du Mo
(c) Yin Heel (d) None
it 7 S IR ST SYER ' —
(a) Conception vessel (b) Du Mo
(c) Yin Heel (d) B &l
Lumbar pain will be treated by -

(a)uB-10 (b) UB - 20
(c) UB - 62 (d) None
PR ¢ BT SUAR BT —

(a)uB-10 (b) UB - 20

(c) UB — 62 (d) &g Tl



(46)

(47)

(48)

(49)

(50)

Night time Epilepsy will be treated by -

(a)K-3 (b)K-1

(c) Du Mo (d) None

afy #1811 arell AR &1 SrER e or gl -
(@a)K-3 (b)K-1

(c) Du Mo (d) ®Big =&l
Insomnia will be treated by -

(a) Yang Ajna chakra (b) Yang Muladhar chakra
(c) Yin Muladhar chakra (d) None

AT &1 SUER 'R —

(a) Yang Ajna chakra (b) Yang Muladhar chakra
(c) Yin Muladhar chakra (d) BIg =&l

How many Petals are in Sahasrara chakra -

(a) 16 (b) 96

(c) 1000 (d) None

UEdR 9% # fhad $9a T & —

(a) 16 (b) 96

(c) 1000 (d) B =&l
Kidney meridian related Chakra is -

(a) Anahat (b) Muladhar

(c) Manipur (d) None

Jas ST 4 wafua as 2 —

(a) r=T8d (b) HeTER

(c) AfoTgR (d) g T
Migraine will be treated by -

(@) Tw-5 (b) Si-3

(c) Tw—1 (d) None

g8+ &1 SUFR =1 I g—

(@) Tw-5 (b) Si-3

(c) Tw—1 (d) Big &



ACUPRESSURE SHODH PRASHIKSHAN EVAM UPCHAR SANSTHAN
49/24-A, MINTO ROAD, PRAYAGRAJ.

SESSION JULY - DECEMBER 2022
ASPEUS CORRESPONDENCE COURSE - SEM -4 (ADAHS-II)

AYURVEDIC ACUPRESSURE (AA-4)

TIME - 1.30 HRS MAX MARKS-100
(ONLINE EXAM)
Objective Questions (G¥gf-Tss U2)
Attempt each questions: 50x2=100

AP Yl & SaX o

(1) Selection of Mega Meridian for brain disease is -

(a) LMM (b) RMM
(c) Both (d) None
aRass @& AT & ford A HAfeTT &1 99T BRI —
(a) LMM (b) RMM
(c) <=1 (d) B 2T
(2) Finger related to Frontal lobe is -
(a) Index finger (b) Middle finger
(c) Ring finger (d) None
wed did 9 gHfed el 8 —
(a) asi=N (b) wegHT
OERLEE (d) &g -TE
(3) Coldness in water is an example of -
(a) Attribute (b) Function
(c) Togetherness (d) None
ol # efiderdr Us SETevvTr 8—
(@) U1 BI (b) &° &1

(c) \HaATa BT (d) dig T8



(4)

(5)

(6)

(7)

(8)

Red colour is related with -

(a) Akash (b) Jal

(c) Disha (d) None
a1 g @ —

(a) 3T 4 (b) Ster &
(c) feem & (d) B 12T
Which one is Physical Meridian -

(a) Artery (b) Veins
(c) Both (d) None
1 ¥ &9 Hifas gla @ —

(a) aw=i1 (b) RRT

(c) qI=l (d) Big -2l
Nerve is related with which number -

(a)2 (b) 5

(c)6 (d) None
74 fea dear 9 gafaa @ -

(a) 2 (b) 5

(c) 6 (d) ®Ig =TE
Treatment of Infection is -

(a) 1,2 (b) 0,9
(c)3,4 (d) None
HHAY BT SUAR BT —

(a) 1,2 (b) 0,9
(c)3,4 (d) BIg Y
Joint related with tissue is -

(a) Vaat (b) Pitta

(c) Kapha (d) None
grgent ¥ wHefeaa s 8 —

(a) ard (b) foea

(c) 2% (d) BIg el



Joints related with Action organ is -

(a) Vaat (b) Pitta

(c) Kapha (d) All

Hfgal @ gfaa ois @ —

(a) ard (b) forea

(c) ®® (d) |+

Limbic system will be treated by -

(a) Lt MF K jt (b) Lt IF K jt

(c) Rt MF K jt (d) None

faffes Rien &1 ST=IR 8 M —

(a) Lt MF K jt (b) Lt IF K jt

(c) Rt MF K jt (d) ®Ig T2

Total number of lobes in brain is -

(@) 3 (b) 4

(c)6 (d) None

ARass A G dld P G&AT © —

(a) 3 (b) 4

(c)6 (d) BIg TEl

Total number of LHM is -

(a) 2 (b) 3

(c)4 (d) None

LHM & ol §&I1 & —

(a) 2 (b) 3

(c)4 (d) ®1g Te

Blood circulation of Leg will be treated on -

(a) Finger No.1,2 (b) Finger No.3.4

(c) Finger No.5,6 (d) None
B Yqd SR BT SUAR B8HIT —

(@) ATl ¥.1,2 4 (b) ATl €.3,4 U

(c) Il 6.5,6 WX (d) dIg T2T



(14)

(19)

(16)

(17)

(18)

Attribute related with Jal element is -

(a) Dry (b) Heavy

(c) Lubrication (d) None

Sl d@ 9 wHfea T @ -

(a) w&1 (b) T®

(c) Rereer (d) 1 A
Pitta dosha related element is -

(@ 1+2 (b)3 +4
(c)5+6 (d) None

e <y wwafea g @ -

(@1+2 (b)3+4
(c)5+6 (d) BIg TEl
Blood tissue joint is -

(@ RtIFK |t (b) LtIF P jt

(c) Rt SF Kijt (d) None

Iad ©Tg BT SIS a—

(a) RtIFKijt (b) LtIF P jt

(c) RtSF Kt (d) ®Ig TE

As per circulation finger No.5,6 are related with -
(a) Hand (b) Legs

(c) Head (d) None

YqTE U B IUR el ¥.5,6 F wrElud del @ —
(a) BT (b) 4}

(c) = (d) d1E T
Speech is related with -

(a) Frontal lobe (b) Parietal lobe
(c) Temporal lobe (d) None

qrofl gafea @ —

(a) hed ol | (b) URTgCd o9 9@

(c) SRS <9 4 (d) ®1% Tel



(19) Impure blood flows in -

(a) Arteries (b) Veins

(c) Lymph (d) None

e[ dd yarfed grar @ —

(a) ¥+t ¥ (b) RRTaT #

(c) aflidT o (d) dig  T21
(20) Sciatica nerve starts from -

(a) Cervical (b) Thoracic

(c) Lumbar (d) None

grafesr ad 3o Bidl 8 —

(a) Cervical & (b) Thoracic ¥

(c) Lumbar % (d) B 2T
(21) Pulmonary Arteries carry -

(a) Pure blood (b) Impure blood

(c) Both (d) None

‘TN gl o WY @ —

(a) Q% Xad (b) 33L& <

(c) qI=it (d) ®Ig TE
(22) Avalambak is a type of -

(a) Vaat (b) Pitta

(c) Kapha (d) None

JdeTr D Uh YPR & —

(a) a1d &1 (b) frea &1

(C) &% @I (d) ®Ig TE
(23) Marrow tissue related joint is -

(@) Lt RF P jt (b) Rt RF P jt

(c) Lt MF P jt (d) None

Aooll o1 4 gHfed ois @ —

(@) Lt RF P jt (b) Rt RF P jt

(c) Lt MF P jt (d) ®Ig &



(24) Number of Spinal nerve is -

(a) 30 pairs (b) 31 pairs

(c) 12 pairs (d) None

WIgel d &) G&IT 8 —

(a) 30 oIS (b) 31 <Ie

(c) 12 w8 (d) ®1% =Te
(25) Elasticity attribute -

(a) Akash (b) Vayu

(c) Agni (d) None

q1dd T[T B

(a) STHTA (b) arg

(c) 3rf¥ (d) d1¥ T
(26) Finger No.6 relates with -

(a) Kaal (b) Disha

(c) Mann (d) None

I H. 6 BT WEH T —

(a) o1 | (b) feem &

(c) ¥ & (d) b1 e
(27) Pancreas is plotted on -

(@) LtIFPjt (b) Rt RF P jt

(c)RtSF P jt (d) None

dafpars Rea @ —

(@) LtIFPjtux (b) Rt RF P jt ux

(c) RtSFPjtux (d) ®Ig TE
(28) Lumbar region will be treated by -

(a) *RMM 0,1,2 (b) *LMM 7,8,9

(c) *RMM 7,8,9 (d) None

R 8 &1 SYAR BT —

(@) *RMM 0,1,2 (b) *LMM 7,8,9

(c) *RMM 7,8,9 (d) BIg 2T



(29) Cerebellum will be treated on -

(30)

(31)

(32)

(33)

(a) Lt MF V jt
(c) Rt RF K jt

ANe T BT SUAR BT —

(a) Lt MF V jt
(c) Rt RF K jt

(b) Rt MF V jt
(d) None

(b) Rt MF V jt
(d) &g 2

Reproductive system will be treated on -

(@) F.No. 0 (b) F.No. 7
(c) F.No. 9 (d) None
S G &1 SYAR BI—

(@) F.No. 0 o} (b) F.No. 7 ©}
(c) F.No. 9 & (d) ®Ig TE

Navel will be treated on -
(a) Rt thumb

(c) Lt Middle finger

AR &1 SUAR BIT —
(a) <TfEA 3B W

(c) 9T HegHT WX

(b) Rt Ring finger
(d) None

(b) <Tfel =TSt UR
(d) &g e

Ovaries will be treated on —

(a) Small finger (b) Ring finger

(c) Index finger (d) None
AT BT SUAR BT —

(a) ®fifs®r & (b) F=Tf®T 7
(c) aci+h & (d) dIg I2T

Platelet will be treated on -

(a) Both Index finger (b) Both Ring finger

(c) Both Middle finger (d) None

Wi &1 SUAR 8T —

(a) <91 aoit (b) ]I4IT ISt A
(c) 14T wegsr § (d) B¢ 1LY



(34) Which meridian will be related to chemical changes -

(a) 1/2 LHM (b) 0/9 LHM

(c) 3/4 LHM (d) None

e uRady § gwafaa ga @ -

(@) 1/2 LHM (b) 0/9 LHM

(c) 3/4 LHM (d) B 2T
(35) Treatment of Artery will be on -

(a) Normal flow (b) Opposite flow

(c) Both (d) None

AT &1 STAR BHIT —

(@) AT Ydrs (b) faudfia wars

(c) =it (d) BI¥ T&l
(36) Treatment of Cervical region will be on -

(a) *LMM 5,6,7 (b) *LMM 7,8,9

(c) *RMM 0,1,2 (d) None

Tafghd &3 BT SUAR BT —

(a) *LMM 5,6,7 (b) *LMM 7,8,9

(c) *RMM 0,1,2 (d) BIg 2T
(37) Coronary arteries supply blood to -

(a) Heart (b) Brain

(c) Both (d) None

IR et Yaa ugard! @ —

(a) g<a DI (b) ARasH B

(c) g4l &t (d) dig =TT
(38) Digestion is the function of -

(a) Vayu (b) Agni

(c) Jal (d) None

96 b 8-

(@) arg &1 (b) 31 &1

(c) oIl &1 (d) ®Ig 2



(39)

(40)

(41)

(42)

(43)

ESR will be treated by -

(a) 172 LHM (b) 3/4 LHM
(c) 5/6 LHM (d) None
ESR &I SUaR 8HIT —

(a) 172 LHM (b) 3/4 LHM
(c) 5/6 LHM (d) ®Ig TE
Which is not a type of Trisutra -

(a) Hetu (b) Ling

(c) Time (d) None
BrE &1 9eR B9 T8 -

(@) 29 (b) fefar

(c) Tt (d) ®Ig e
Artery related to Lungs is -

(a) Pulmonary (b) Coronary
(c) Both (d) None
Bhs O gHEfEd gu 8 —

(a) T (b) BRI
(c) gI=it (d) ®Ig TE
Hemoglobin will be treated on —

(a) Both IF (b) Both MF
(c) Both RF (d) None
STAaT &1 SUAR 8T —

(a) TIAT asil (b) T HE™T WX
(c) 19l 3FTFAST WX (d) B &Y
Type of Vaat disease is -

(a) 20 (b) 40

(c) 80 (d) None
qrd AT D YR & —

(@) 20 (b) 40

(c) 80 (d) BIg Tl



(44) Cardiomegaly will be treated by -

(a) 1/2 LHM
(c) 5/6 LHM
< gfg &1 STER s —
(@) 1/2 LHM
(c) 5/6 LHM

(b) 3/4 LHM
(d) None

(b) 3/4 LHM
(d) Big Tl

(45) Varicose veins will be treated on -

(a) Normal flow
(c) Both

ANBIT 99 BT SUAR BT —

(a) ATHTI YdT8 UR
(c) g9t

(46) Type of Kapha disease is -
(a) 20
(c) 80
% T D YHR & —
(a) 20
(c) 80

(47) Lungs will be treated on -
(a) Finger No.1
(c) Finger No.4
BHs &I SUAR BT —
(a) AT 4. 1
(c) 3Tl 9. 4

(48) Spiral meridian on body is -
(a) Vertical
(c) Both
e 9a IR A @ —
(a) €
(c) =it

(b) Opposite flow
(d) None

(b) faudia yarg wx
(d) BI¥ TEl
(b) 40

(d) None

(b) 40

(d) BI¥ TEl
(b) Finger No.2
(d) None

(b) ATl H. 2
(d) ®ig Tl
(b) Horizontal

(d) None

(b) &fas
(d) &g Tl



(49) Total number of Vertical meridian is -

(a) 6 (b) 8

(c)10 (d) None

Ead Uld B G 9T & —

(a) 6 (b) 8

(c) 10 (d) B &Y
(50) Number of Main component of Ayurved are -

(@) 5 (b) 6

()7 (d) None

IRdT & = gcHl B G=AT © —

(a) 5 (b) 6

(c) 7 (d) &1 e



